Task D
[image: ]
Task E
[image: ]
I have to execute the processes in this way:-
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image1.png
Input: 2, Y, M), s, 50
Output: g;, €11, 5O, |
31 gi = (@ -0 251
32 (COM, 509,59, )= (1,50, )+ YO 4+ MO;
33 (CEW, D50, )= (0,50, 1) 2 YO 4 g MO,
34 if 5§ = 1 then ’ ’

35 ‘ ¢ =cot;
© s
36 oo (50u21:5,75.1)i
38 \\ EM);
0
39 (SEL 89, 1)
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Input: ;, zi, CU), YO, MO), $G+Y), 50
, M@, sGH, 5@,
Output: CG+D), 50, |
11 (COU+D, 500 | 5
(1,59, 1)+ CO 1 2 YO 4 gy MO,
12 (CBU+D, sEW) | s, )=
(0,89, ) +CH 4z, YO g MG,
43 i 57"V =1 then
44 ‘ Cl+) = Ccou+D;

0
s ) S 501,55 %
a7 | CUH) = CRGHY;

as [ SQua =800y
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